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Which was the first metal used by the man?
A) Copper B) Silver C) Bronze D) Brass

v

The Gayatri Mantra contained in the Rig Veda is dedicated to which deity?
A) Agni B) Marut C) Surya D) Savitri
The Panchatantra was written by

A) Kalidasa B) Vishnu Sharma  C) Tulsidas D) Bhanubhatta -~
The first Europeans to come to India were
A) British B) Dutch C) French D) Portuguese ~/

Which Indian revolutionary helped Subash Chandra Bose in raising ‘Indian National Army’

A) Batukeshwar Dutt B) Ram Prasad Bismil
C) Rasbehari Bose D) Surya Sen Y
Among the following which planet takes maximum time for one revolution around the Sun?
A) Earth B) Jupiter C) Mars D) Venus
The Earth rotates around an axis pointing towards
A) Moon B) Pole Star C) Sun D) Venus »
The Country which is commonly known as ‘The land of Golden fleece’ is
A) Australia B) Britain C) France D) Japan
Which state has the largest coastline in India?
A) Gujarat B) Tamil Nadu C) Karnataka D) Andhra Pradesh
Vv
The oldest mountains in India according to geographical history are
A) Satpuras B) Nilgiris C) Vindhyas D) Aravallis
Which is the home of ‘Alphonso Mango’
A) Ratnagiri B) Banaras C) Molda D) Vijayawada
Which of the following is not a part of the Preamble to the Indian Constitution?
A) Secularism B) Socialism C) Federalism D) Democratic Republic

Which of the following writs may be issued to enforce a Fundamental Right?
A) Habeas Corpus B) Mandamus C) Prohibition D) Certiorari
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14. The three basic components of an atom are

A) Protons, Neutrons and ions B) Protons, Neutrons and Electrons
C) Protium, Deuterium and Tritium D) Protons, Neutrinos and ions

15. Bats can know about their prey at a distance even in the night by emitting
A) Infra-red lights ~B) Ultraviolet lights
C) Chemicals from their body - D) Ultrasonic sounds

16. Turmeric (Haldi) rapidly becomes colorless on addition of

A) Baking soda  B) Vinegar C) Lemon juice D)Alcohol

N, 17. Enzymes are
A) Carbohydrates B) Proteins C) Lipids D) Steroids

+/18. The Constitution of India does not mention the post of

A) The Deputy Chairman of the Rajya Sabha

B) The Deputy Prime Minister

C) The Deputy Speaker of the Lok Sabha

D) The Deputy Speaker of the State Legislative Assemblies

\/ 19. Who is the founder of Wikipedia?
A) Peer Schneider B) Jimmy Wales C) Rickard Eriksson D) Mark Fletcher

\/ 20. The Man Booker Prize or commonly called Booker Prize is given in which field?
A) Sports B) Medicine C) Science D) Fiction writing

\/21. Development expenditure of the Central government does not include

A) Defence Expenditure

B) Expenditure on Economic Services

C) Expenditure on social and community services
D) Grant to states

\/22. ICICI is the name of a

A) Chemical Industry B) Bureau
C) Corporation D) Financial Institution

~/23. Gilt-edged Market means

A) Bullion Market B) Market of Government Securities
B) Market of Guns D) Market of pure metals
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24. Economics is the study of

A) Production Technology

B) Consumption Decisions

C) How society decides what, how and from whom to produce
D) The best way to run society

25. Which one among the following sectors has attracted the highest foreign direct
investment inflows into India?

A) Chemicals other than fertilizers B) Infrastructure and Services sector
C) Food processing D) Telecommunication

26. The opportunity cost of a good

A) The time lost in finding it

B) The quantity of other goods sacrificed to get another unit of that good
C) The expenditure on the good

D) The loss of interest in using savings

27. Normative Economics forms based on
A) Positive statements, facts B) Opinions, personal values
C) Positive statements, values D) Opinions, facts

28. Data are important in economics because and

A) They suggest relationships for explanation, allow testing of hypotheses
B) They can be used for tables, they can be graphed

C) They can be used in computers, governments use them

D) They provide interesting information, can be summarized

29. On a graph, a positive linear relationship

A) Moves down to the right B) Moves up to the left
C) Moves up to the right D) Moves down to the left

30. If the diagram of a line shows that lower values on the vertical scale are associated with
higher values on the horizontal scale, this is an example of

A) A non-linear relationship B) A positive linear relationship
C) A scatter diagram D) A negative linear relationship
i is the process of analyzing the environment for the identification of

factors which have impact on or have implication for the business

A) Forecasting B) Assessment C) Scanning D) Controlling
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32. Which committee recommended the enactment of Competition Act

33.

34.

3s.

36.

S

38.

A) High level Committee on competition policy and Law
B) A Committee on Law and Order

C) A Central Committee for Research and Policy

D) None of these.

---------- is the rate at which the central bank discounts or rediscounts the eligible bills.
A) Credit rate B) Bank rate C) Bill rate D) Deposit rate

Who is concerned with the auditing of the receipts and expenditure of the State and
Central Govt.
A) Accountant General B) Comptroller and Auditor General
C) Reserve Bank of India D) None of the above

Which policy is concerned with raising revenue through taxation and deciding on the
level and Pattern of expenditure?

A) Monetary policy B) Fiscal Policy C) Cash policy D) None of these -

Who is responsible for presenting the Union Budget before the Parliament?
A) Prime Minister  B) Finance Minister C) RBI Governor D) None of these

--------- is concerned with all current expenditure of the Govt. on administration
A) Revenue expenditure B) Capital expenditure
C) Total Expenditure D) None

The Planning commission was set up in India in --------
A) 1950 B) 1951 C) 1947 D) 1952

39. Who is the President of National Development Council?

A) Finance Minister B) Prime Minister
C) Home Minister D) None of these

40. The method used for transferring complex technology is ------==c=«

A) Trunkey contracts B) Licensing agreements
C) Training of experts D) None of these

Read the table below and based on this table answer questions from 41 to 46:

Area under Major Horticulture Crops (in lakh hectares)

Year Fruits Vegetables | Flowers | Total Horticulture Area
2010-11 53 72 1 187
2011-12 56 75 1 194
2012-13 58 78 b 202
2013-14 61 79 2 207
2014-15 63 79 2 209
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41.

42.

44.

45.

46.

Which of the following two years have recorded the highest rate of increase in arca
under the total horticulture?

A)2010-11 & 2011-12 B) 2011-12 & 2012-13
C)2012-13 & 2013-14 D) 2011-12 & 2013-14

Shares of the area under flowers, vegetables and fruits in the area under total horticulture
arc respectively:

A) 35, 36 and 2 percent B) 30, 38 and 1 percent
C) 38, 30 and 1 percent D) 1, 38 and 30 percent
. Which of the following has recorded the highest rate of increase in area during 2010-11
t0 2014-15?
A) Flowers - B) Vegetables » C) Fruits D) Total horticulture

Find out the horticultural crops that have recorded an increase of area by around 10
percent from 2010-11 to 2014-15.

A) Fruits B) Flower C) Vegetables D)Total horticulture
What has been the share of area under fruits, vegetables and flowers in the area under
total horticulture in 2012-13?

A) 68 percent B) 53 percent C) 79 percent D) 100 percent

In which year, area under fruits has recorded the highest rate of increase?

A) 2013-14 B) 2012-13 C) 2011-12 D) 2014-15

The following pie charts exhibit the distribution of the overseas tourist traffic from
India. The two charts show the tourist distribution by country and the age profiles of the
tourists respectively.

Distribution of Overseas Tourist Traffic from India

: Country i Age

15%
W % Above 50 Yrs (50%)

4 40-49 Yrs (20%)
30-39 Yrs (15%)
% Below 30 Yrs (15%)

@ USA (40%) ||
i
® japan (30%) 15%

Others {20%) i

§
2UK(10%) |

i

!
]

47. What pefcentage of Indian tourist went to either USA or UK?

A) 40% 'B) 50% C) 60% D) 70%
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48. The ratio of the number of Indian tourists that went to USA to the number of Indian
tourists who were below 30 years of age is?

A) 2:1 B) 8:3 C)3:8 D) Cannot be determined

49. If amongst other countries, Switzerland accounted for 25% of the Indian tourist traffic,
and it is known from official Swiss records that a total of 25 lakh Indian tourists had
gone to Switzerland during the year, then find the number of 30-39 year old Indian
tourists who went abroad in that year ?

A) 18.751lakh  B)2S lakh C) 50 lakh D) 75 lakh

Directions (Qs. 50-54): Study the following table carefully and answer the
questions given below it.

NUMBER OF STUDENTS WHO GO ABROAD FOR STUDY

State/U. T. Year
1990 1991 1992 1993 1994

Maharashtra 732 840 900 920 925
Kerala 1035 940 1200 400 1500
Karnataka 750 600 ‘830 iee 900
West Bengal 500 550 450 600 4]
Delhi 1500 1625 1700 475 1800
Andhra Pradesh 800 840 875 925 785
Total 5308 5395 5955 895 6434

50. From which State/U.T, did the least number of students go abroad over the years among
the given States / U.T.s?

A) Karnataka B) Kerala C) West Bengal D) Maharashtra

51. What was the percent increase in number of students from West Bengal from 1992 to
19937

A) 25 B) 33.33 C) 50 D) 66.67

52.In the case of which State/ U.T. was there an increase and decrease respectively in the
number of students in alternate years?

A) Andhra Pradesh B) Delhi C) Karnataka D) West Bengal

53.In the case of which State/U.T. was there a continuous increase in the number of
students over the given years?

A) Delhi B) Maharashtra C) Andhra Pradesh D) Karnataka

54.In which year did Kerala contribute approximately one-fifth of the total number of
students in that year?

A) 1990 B) 1991 C) 1992 D) 1993
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Direction (Qs. 55-59): Study the following table carefully and answer the questions
given below it.

Number of Candidates Appeared and Qualified Under Various Disciplines in an
Examination Over The Years

ARTS SCIENCE COMMERCE | AGRICULTURE |ENGGINEERING[ TOTAL

App. |Qual. | App. | Qual. | App. |Qual. | App. | Qual. | App. | Qual. App. | Qual.

1992 1850]200 |1614 1402 1750 212 |614[170|801]270 4629 1254

1993 J1214)315 |1826 1420 |800 (220 |580[150{934{350 5354 1455

1994 1975125011970 | 500 860 (260 1624[160[|742|300 (5171} 1470

1995 18201196 1560 1450 }842 (300 |490[160 (850|312 [4562| 1418

1996 |1412378 12120 | 625 1105 {320 |760[200({642{301 6039 1824

1997 | 738 1359|3506 {880 [1240 {308 {640]210]962]400 |7086| 2157

55. In which of the following disciplines was there a continuous increase in the number of
candidates appeared over the given years?

A) Agriculture B) Arts C) Science D) None

56. What was the percentage drop in number of candidates qualified in Science discipline
from 1994 to 1995?

A) 10 B) 20 C)25 D) 50

57. The number of candidates appeared under Agriculture in 1995 was approximately what
percentage of number of candidates qualified under Arts in 19942

A) 400 B) 200 C) 100 D) 20

58. In which of the following years was the percentage of total number of candidates of all
the disciplines together qualified to the appeared ones, the maximum?

A) 1993 B) 1994 C) 1995 D) 1996
59. In which of the following years was the percentage of qualified to the appeared ones in

engineering discipline the maximum?

A) 1994 B) 1995 C) 158 D) 1996
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Thef following pie charts exhibit the distribution of the overseas tourist traffic from
India. The two charts show the tourist distribution by country and the age profiles of the

tourists respectively.

Distribution of Overseas Tourist Traffic from India

Country Age

10%

o USA (40%)
7 Japan (30%)

Others (20%)

® UK (10%)

60. What percentage of Indian tourist went to either USA or UK?

- A) 40% B) 50% C) 60%

¥ Above 50 Yrs (50%)
® 40-49 Yrs (20%)
30-39Yrs (15%)

% Below 30 Yrs (15%)

D) 70%

In each of the following questions, various terms of an alphabet series are given with
one or more terms missing as shown by (?). Choose the missing terms out of the given

alternatives.

61. A7, GT, MN, 2, YB
A) KF B) RX C)SH

62. A7, CX, FU, ?
A) IR B) IV C)JQ

63. Poles: Magnet :: 7 : Battery
A) Encrgy B) Power C) Terminals

64. Peace: Chaos :: Creation : ?

A) Manufacture B) Destruction C) Build

65. Find the odd one out
A) Crusade B) Expedition C) Cruise

66. Find the odd one out
A) Flourish B) Renovate C) Blossom

67. If FRIEND is coded as HUMJTK, how can CANDLE be written in that code?

A) DEQIQM B) DCQHQK C) EDRIRL

hitps://www. freshersnow.com/entrance-exams/

D) TS

D) KP

D) Cells

D) Construction
D) Campaign
D) Thrive

D) ESJIFME
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68.In a certain code ADVENTURES is written as TRDESAUVL;N. How is PRODUCED
written in that code?
A) IUIPGSSRNP B) IUIPGSRSNR C) IUINGSSRRP D) IRIPGSSNRR

69. Pointing to a man in a photograph, a woman said, "His brother's father is the only son of
my grandfather." How is the woman related to the man in the photograph?

A) Sister B) Aunt C) Grandmother D) Daughter

70. A told B, "The girl I met yesterday was the youngest daughter of the brother-in—law of
my friend’s mother." How is the girl related to A's friend?

A) Niece B) Cousin C) Friend D) Daughter
71. Doctor : Patient : : Politician : ?
A) Voter B) Chair C) Money D) Public
72. Ignorance : Education : : Disease : ?

A) Hospital B) Doctor C) Medicine D) Nurse

73. In these series, you will be looking at both the letter pattern and the number pattern.
Fill the blank in the middle of the series or end of the series.

SCD, TEF, UGH, , WKL
A) CMN B) UJI oOvi D)UT

74. Each question has an underlined word followed by four answer choices. You will choose
the word that is a necessary part of the underlined word. '

A) Autumn B) Stockpile C) Tractor D) Crop

75. Violating an Apartment Lease occurs when a tenant does something prohibited by the
legally binding document that he or she has signed with a landlord. Which situation
below is the best example of Violating an Apartment Lease?

A) Tim has decided to move to another city, so he calls his landlord to tell him that he is
not interested in renewing his lease when it expires next month.

B) Valerie recently lost her job and, for the last three months, has neglected to pay her
landlord the monthly rent they agreed upon in writing when she moved into her
apartment eight months ago.

C) Mark writes a letter to his landlord that lists numerous complaints about the
apartment he has agreed to rent for two years.

D) Leslie thinks that her landlord is neglecting the building in which she rents an
apartment. She calls her attorney to ask for advice.
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76. Statement: Unemployment allowancé should be given to all unemployed Indian youth
above 18 years of age.

Assumptions:

1. There are unemployed youth in India who needs monetary support.

2. The government has sufﬁqient funds to provide allowance to all unemployed youth.
A) Only assumption 1 is implicit B) Only assumption 2 is implicit

C) Either 1 or 2 is implicit D) Neither 1 nor 2 is implicit

77. The Pacific yew is an evergreen tree that grows in the Pacific Northwest. The Pacific
yew has a fleshy, poisonous fruit. Recently, taxol, a substance found in the bark of the
Pacific view, was discovered to be a promising new anticancer drug.

A) Taxol is poisonous when taken by healthy people

B) Taxol has cured people from various diseases

C) People should not eat the fruit of the Pacific yew

D) The Pacific yew was considered worthless until taxol was discovered.

78. Statements: Government has spoiled many top ranking financial institutions by
appointing Bureaucrats as Directors of these institutions.

Conclusions:

1. Government should appoint Directors of the financial institutes taking into
consideration the expertise of the person in the area of finance.

2. The Director of the financial institute should have expertise commensurate with the
financial work carried out by the institute.

A) Only conclusion 1 follows B) Only conclusion 2 follows
C) Either 1 or 2 follows D) Both 1 and 2 follows

79. Read each sentence to find out whether there is any grammatical error in it. The error, if
any will be in one part of the sentence. The letter of that part is the answer. If there is no
error, the answer is ‘D', (Ignore the errors of punctuation, if any).

(solve as per the direction given above)

A) We discussed about the problem so thoroughly
B) On the eve of the examination

C) ThatI found it very easy to work it out

D) No error

80. Each question consist of two words which have a certain relationship to each other
followed by four pairs of related words, select the pair which has the same relationship.

Diva: Opera
A) Producer : Theatre B) Director : Drama
C) Conductor : Bus \ D) Thespian : Play
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81. In each series, look for the degree and direction of change between the numbers, In other
words, do the numbers increase or decrease, and by how much

Look at this series: 2, 1, (1/2), (1/4), ... What number should come next?

A) (173) -, B) (1/8) C) (2/8) D) (1/16)
82. Look at this series: 53, 53, 40, 40, 27, 27, ... What nmﬁber should come next?

A) 12 B) 14 : C)27 D) 53

83. Find the number that fits somewhere into the middle of the series. Some of the items
involve both numbers and letters

Look at this series: F2, _, D8, C16, B32, ... What number should fill the blank?
A) A16 B) G4 C) B4 D) E3

84. Look at this series: V, VIIL, XI, XIV, _, XX, ... What number should fill the blank?
A) IX B) XXIII C) XV D) XVII

85. Look at this series: 72, 76, 73, 77, 74, __, 75, ... What number should fill the blank?
A) 70 B) 71 € 73 D) 78

86. Look carefully for the pattern, and then choose which pair of numbers comes next.
42 403835333128

A) 2522 B) 26 23 C)2624 D) 2523

87. Look carefully for the pattern, and then choose which pair of numbers comes next.
13 291526172319

A) 2123 B) 20 21 C) 2017 D) 25 27

88. Look carefully for the pattern, and then choose which pair of numbers comes next.

9121114131615
A) 1413 B) 1821 C)1213 D) 18 17

89. Look carefully for the pattern, and then choose which pair of numbers comes next.
2444416388

A) 1012 B) 3532 C)3510 D) 10 52

90. Which one of the following is not a prime number?
A) 31 B) 61 CO7 D) 91
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91. (112x5%=?
A) 67000 B) 70000 C) 76500 D) 77200

92. If Sum of two numbers is 16 and product of the same number is 63, find the number
A) 10,6 B)9,7 C) 12,4 D) 8,8

93. What least number must be added to 1056, so that the sum is completely divisible by 237
A) 2 B)3 C)18 D) 21

94,1397 x 1397 =7
A) 1951609 B) 1981709 C) 18362619 D) 2031719

95. How many of the following numbers are divisible by 132?
264, 396, 462, 792, 968, 2178, 5184, 6336
A) 4 B) 5 )6 D)7

96. The largest 4 digit number exactly divisible by 88 is:
A) 9944 B) 9768 C) 9988 D) 8888

97.(?) + 3699 + 1985 - 2Q47 =31111
A) 34748 B) 27474 C) 30154 D) 27574

98. How many natural numbers are there between 23 and 100 which are exactly divisible by 6?
A) 8 B) 11 C)y12 D) 13

99. (12345679 x 72) =?
A) 88888888 B) 898989898 C) 888888888 D) 9999999998

100. -84 x29+365=7
A) 2436 B) 2801 C) -2801 D) -2071
The standard of medicine in the United States is generally agreed to be very high. There
is no shortage of well qualified specialists, and there is a lot of individual attention.
Treatment is backed up by the latest in the way of medical technology. Doctors and
hospitals do their utmost not to make mistakes, because if they do they risk being made to
pay out enormous sums in compensation. But the American health care system has what
look like insoluble problems. There are in fact two systems side by side. One is the

private system run on the basis of free competition. The other is the public system which
had to be created because such a large part of the population, including many of the
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elderly, could not afford to pay for the absurdly expensive private treatment. The public
system is vast. A huge proportion - more than 10 per cent - of the United States federal
budget goes on it. Yet there are still very large numbers of Americans who are not
covered even by this service. The government tries to keep expenditure down and so sets
limits to the income of people using the system. Millions of the unemployed are another
important group that is excluded.

101. What is the state of the health system in America? It is

A) Unsatisfactory B) Satisfactory.
C) Too risky D) Too mechanised

102. 'What can patients expect with regard to treatment in the U.S.A.?

A) Frequent mistakes by doctors

B) Very honest hospitals

C) Personal attention

D) Some of the most skilful nurses in the world

103. Among those Americans who cannot get proper health care are

A) Some people who earn too much B) Old people
C) People with very large incomes D) Private patients

Harold a professional man who had worked in an office for many years had a fearful
dream. In it, he found himself in a land where small slug-like animals with slimy
tentacles lived on people's bodies. The people tolerated the loathsome creatures because
after many years they grew into elephants which then became the nation's system of
transport, carrying everyone wherever he wanted to go. Harold suddenly realized that he
himself was covered with these things, and he woke up screaming. In a vivid sequence of
pictures this dream dramatized for Harold what he had never been able to put in to words;
he saw himself as letting society feed on his body in his early years so that it would carry
him when he retired. He later threw off the "security bug" and took up freelance work.

104. In his dream Harold found the loathsome creatures

A) In his village B) In his house
C) In a different land D) In his office

105. Which one of the following phrases best helps to bring out the precise meaning of
'loathsome creatures'?

A) Security bug and slimy tentacles

B) Fearful dream and slug-like animals
C) Slimy tentacles and slug-like animals
D) slug-like animals and security bug

106. The statement that 'he later threw off the security bug' means that

A) Harold succeeded in overcoming the need for security
B) Harold stopped giving much importance to dreams

C) Harold started tolerating social victimization

D) Harold killed all the bugs troubled him
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107. Harold's dream was fearful because

A) It brought him face to face with reality

B) It was full of vivid pictures of snakes

C) He saw huge elephant in it

D) In it he saw slimy creatures feeding on people's bodies

At this stage of civilization, when many nations are brought in to close and vital contact
for good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they should begin to understand a little of one another's
historical experience and resulting mentality. It is the fault of the English to expect the
people of other countries to react as they do, to political and international situations. Our
genuine goodwill and good intentions are often brought to nothing, because we expect
other people to be like us. This would be corrected if we knew the history, not necessarily
in detail but in broad outlines, of the social and political conditions which have given to
each nation its present character.

108. According to the author of ‘Mentality' of a nation is mainly product of its

A) History B) International Position

C) Politics D) Present Character
109. The need for a greater understanding between nations

A) Was always there B) Is no longer there

C) Is more today than ever before D) Will always be there
110. The character of a nation is the result of its

A) Mentality B) Cultural heritage

C) Gross ignorance D) Socio-political conditions
111, According to the author his countrymen should

A) Read the story of other nations B) Have a better understanding of other nations

C) Not react to other actions D) Have vital contacts with other nations
112.  Englishmen like others to react to political situations like

A) Us B) Themselves C) Others D) Each others

FILL IN THE BLANKS

113. ¥ tennis every Sunday Morning

A) Playing B) Play C) Am playing D) Was playing
114. Sushil his teeth before breakfast every morning.

A) Will cleaned B) Is cleaning C) Cleans D) Was cleaning
115. Synonym of ABANDON

A) Try B) Join C) Keep with D) Forsake
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116. Synonym of ABDICATE
A) Join B) Search C) Abandon D) Advance

In the questions 117-120 choose the word which is the exact OPPOSITE of the given words.

117. ENORMOUS
A) Soft B) Average C) Tiny D) Weak

118. COMMISSIONED
A) Started B) Closed C) Finished D) Terminated

119. ARTIFICIAL

A) Red B) Natural C) Truthful D) Solid
120. EXODUS _
A) Influx B) Home-coming C) Return D) Restoration
X-X-X
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MET KEY - 2016

.No. Ans. Q.No. Ans. Q.No. Ans. Q.No. Ans.
1 A 31 C 61 C 91 B
2 D 32 A 62 C 92 B
3 B 33 B 63 C 93 A
4 D 34 B 64 B 94 A
5 C 35 B 65 C 95 A
6 B 36 B 66 B 96 A
7 B 37 A 67 C 97 B
8 A 38 A 68 A 98 D
9 A 39 B 69 A 99 C
10 D 40 A 70 B 100 D
11 A 41 B 71 A 101 A
12 C 42 D 72 C 102 D
13 A 43 A 73 C 103 A
14 B 44 C 74 withdrawn 104 C
15 D 45 A 75 B 105 C
16 A 46 C 76 A 106 A
17 B 47 B 77 C 107 A
18 B 48 B 78 D 108 A
19 B 49 D 79 withdrawn 109 C
20 D 50 B 80 D 110 D
21 A 51 A 81 B 111 B
22 D 52 B 82 B 112 B
23 B 53 C 83 C 113 B
24 C 54 C 84 D 114 C
25 B 55 D 85 D 115 D
26 B 56 A 86 C 116 C
27 B 57 B 87 B 117 C
28 A 58 C 88 D 118 D
29 C 59 D 89 C 119 B
30 D 60 B 90 D 120 A




